The following are from Mathematical Nuts by Samuel I. Jones.

204.  I entered a fruit stand with a friend and bought fruit amounting to exactly 34 cents.  When I went to pay, I found that I did not have the change.  I only had a dollar, a 3-cent piece, and a 2-cent piece.   The merchant could not make the change.  He only had a 50-cent piece, and a 25 cent-piece.  My friend wishing to assist us offered to lend us all he had. He had 2 dimes, 1 nickel, a 2-cent piece, and a 1- cent piece. I was thus enabled to pay for the fruit and in addition each one received what was due him in full.  Show how the transaction was made.

205.  Four boys are given three equally-thick round pies of different radii a, b, and c.  They wish to divide them equally among them by making as few pieces as possible.  Make the division, given that a2 = b2 + c2.

206.  In going from his house to his barn, Mr. Jones carried two buckets.  He went to the brook and filled one bucket; proceeded to the river and filled the second; and then proceeded for the barn.  “How far did you go?” Jones was ask.  He replied, “ I do not know, but remember that the river and brook were parallel and 20 rods apart.  Also in leaving the brook I observed that the line in which I was traveling made an angle with it whose sine was 4/5. “ How far did Jones go, provided he took the shortest route?  

River


  









River








Barn









  12 rods







     4 rods




Brook


Brook

207.  Two trains start at the same time, one from Dallas to Houston, the other from Houston to Dallas.  If they arrive at their destinations one hour and four hours (respectively) after passing one another, how much faster is one train running than the other?

208.  Divide a circular piece of land into four congruent tracts, each tract to be bounded by arcs.  

209.  A father wills a circular tract of land of 1000 acres to his four sons.  On this tract are located two fine artesian wells; one on the extreme eastern point of the boundary line and the other on the extreme western point.  The father requests that each son must have the same amount of land and also that each must have access to each well.  In making the division it was necessary to call in a mathematician.  Can you make the division?

210.  Two baseball teams, presumably of equal merit, are playing a series of games with the understanding that the first team winning four games wins the series.  They have played two games, both won by A.  What are the odds in favor of A’s winning the series?

211.  A man has nine pieces of chain.  Three have three links each (as shown in the illustration), three more pieces have four links each, and three more have five links each.  He wishes to unite them into a straight chain or endless chain, depending upon the cost.  What will be the cost  in each case, provided he pays 2 cents for each cut and 2 cents for each weld?
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212.  A and B live between two rivers which 

   
       Kleenix

meet.  A wishes to visit B and desires to take 

the shortest possible path so as to carry B a 

bucket of water from each river.  Mark A’s path.

213.  Can you place 4 marbles equidistant apart?

214.  How many equilateral triangles can be formed form nine matches, the side of each triangle being the length of a match?

215.  Two monkeys are balanced on a rope, which goes over a pulley.  One remains stationary while the other climbs the rope.  What happens?

216. 

Johnson’s Cat 

Johnson’s cat went up a tree,

Which was sixty feet and three;

Every day she climbed eleven,

Every night she came down seven.

Tell me, if she did not drop,

When her paws would touch the top.

217.  A hunter walked around a tree to kill a squirrel; the squirrel kept behind the tree from the hunter.  Did he go around the squirrel?

218.  A camper pitched a square tent between four trees A, B, C, and D, forming a square.  After his departure another camper came along and also pitched a square tent with twice the floor space between the same trees?  How was it done? 

219.  A man has a square plot of ground with 12 posts equally spaced on each side.  What is the total number of posts?

220.  Some horses and chickens are in a barn; the total number of heads and wings equals the number of feet.  What is the ratio of horses to chickens?

221.  Two boys sit down to eat, one with 5 cakes and the other with 3, all the cakes having the same value.  A third boy comes along and eats with them, paying 8 cents for his part of the meal.  If they eat equally and consume all the cakes, how should the 8 cents be divided?

222.  A man is twice as old as his wife was when he was an old as she is now.  When she is as old as he is now, the sum of their ages will be 100 years.  Find their ages now. 

223.  A number should have been multiplied by 6.  Instead, it was divided by 6.  The result was 15.  What was the correct answer?

224.  A melon placed in one of the scales of a false balance was found to weigh 16 pounds.  When placed in the opposite scale, it weighed only 9 pounds.  What was the correct weight of the melon?

225.  Two autos A and B start from the points C and D opposite each other across a lake.  They start towards each other and maintain uniform speeds.  They meet 421 feet from D, but continue their speed and meet again 221 ft. from C.  What is the diameter of the lake?

226.  Find the smallest number, which being divided by 2,3,4,5,6,7,8,9, will respectively leave remainders of 1,2,3,4,5,6,7,8.

227.  A man who feels his death approach bequeaths to his young wife one third of his fortune, and the remaining two thirds to his son, if such should be born; but one half of it to the widow and the other half to his daughter, if such should be born.  After his death twins are born, a son and a daughter.  How should the fortune be divided amongst the three?

228.  A cow is tethered to the corner of a barn 25 feet square, by a rope 100 feet long.  How many square feet can she graze?

229.  On a hillside, which slopes 11 feet in 61 feet of its length stands an upright pole.  If this pole should break at a certain point, and fall up hill, the top would strike the ground 61 feet from the base of the pole; but if it should fall down hill, its top would strike the ground 
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 feet from the base of the pole.  Find the length of the pole.

230.  Two men were walking along a railway track, each at the rate of 3 miles per hour, and in opposite directions.  A passing train ran completely by one a 5 seconds and by the other in 6 seconds.  How many feet long was the train?

231.  Divide a circle into

a) two equal parts

b) three equivalent parts

c) four equivalent parts

Each division must be made using semicircles only -- all boundaries must be semicircles.

232.  Twelve oxen are turned into a pasture of 3 ½ acres and eat all the grass in four weeks so that the pasture is bare.  Twenty-one oxen are turned into a pasture of ten acres and eat all the grass in nine weeks.  How many oxen will eat all the grass of 24 acres in just exactly 18 weeks, it being assumed that the grass in all the pastures is at the same height when the oxen are turned in, and that the grass grows at a uniform rate?

233.  Two equal circles, largest possible, are inscribed in a circle whose circumference is 640 feet; then two other circles, largest possible, in the two remaining spaces.  Find circumference of a small circle and the area not included in the four inscribed circles.
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